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| SSC PART-Il (10th CLASS)
BIOLOGY (NEW SCHEME) GROUP- (20152017 o) sy _of (€ ) iy
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b
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NOTE: - Write same question number -l L IR E E’r!ﬁ/‘.;JH.JJIj';JIfLFJ{'[é{dlﬁ

and its part number on answer book, as given in the question paper.

SECTION- JiLe

2. Attempt any five parts. 1M0=2x%x5
{t Whal is meanrt by Amphysema?

{ii) Vhat is Diaphragm?

(i Wvhatis meant by Dialysis? Write the names of its mettods
(vl  What is the process of Lithctripsy?

i) What iz the difference betweesn Transpirstion and Gutiation?
(wi}  Why Al-len Isa is famous for?

(vil)  How many parts of Imernal Ear are? Write the names.

{wili) Write the namernf Hormones secretzo by Posterior Lobe,

3. Attempt any five parts. 10=2x5
{1} Virite the names of tha Ceils of Cartilage and Bone.
(i1} Differentiate between Tendons and Ligamenis,

{iil  What is the importance of Reproduction?

(v} What is meant by Fragmentstion?

i} From which Sa2ed and Fruit develop?

(wvi)  Differentiate bebween Transcription and Translation
(wii) State Mendels Law of Independent Assorment.

(vill)  Write any twa maior sources of Variations

4, Attempt any five parts. 10=2x5
i1 Cefing Ecology.

{ii) Explain Consumers with gxamples.

(liy  Describe the use of fermentation in Dairy Products.

(iv)  Whatis meant by Novel Protein?

(v}  Write down some uses of Ethanaol,

(viy  What are Addictive Drugs?

(viy Differentfats bstweean Antiseptics and Antibiotics

{vili}  What is meant by Drugs obiained from Animalz?

Give [I5 two examples.

SECTION-II
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NOTE: - Attempt any two questions.
5.(A) Define Homeostasis. Explain with the help of few examples.
{B) Write a note on Peripheral Nervous System,
B.(A) Write detaled ncte on "Muscies and Movements”
(B) Write down the advantages 2nd disadvantages
of Vegetatve Propagation.
7.(A) Write 2 note on Ecological Pyramids.

(B) Describe the objectives of Genetic Enginearing.
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TIME ALLOWED: 1.45 Hours SUBJECTIVE JP¥L» H45 = =
MAXIMUM MARKS. 48 48 = Af

NOTE: - Write same question number

-l g ISR Lz A drsigdiin 2
and its part number on answer book, as given in the question paper.
SECTION-I Lo

i0D=2x5
(i) What is the difference be'ween Breathing and Ceilular Respiration?

2. Attempt any five parts.

~Erfeelinbiedd 2 0

e JALLE ;"'E,:"-Jf'}.]z’ al JP:

()

(i)  Write the symptoms of Amphysema, -.‘-;J.:,LM L 5 (ii)
(i)  Define Homeostasis and give an example. LS e L ,;J,_,r"-"f-;*y: (i)
(iv) Whatis Kicney Transplant? fe fe VA (i)
(v)  State the homeostatic role of Skin. Sl e (W)
(viy  What are the main components of Coordination? ‘:‘.;_,jj'c..:;lﬂ :Ellrﬁfs'i J:dirﬁr (i}
(vii) What is the difference between Dendrites and Axons? AL P Uk (i)
(viii) Why All Ibr-e-Isa is famous for? U e (il

3. Attempt any five parts. 10=2x5 _Efe\e izl 8 30w
] What is the difference betwean Compact and Spongy Bone? Tlg.L}ng,ng.fJ:g' Ll ..,.rﬁi:,"r b
i} Define Joint. Write the names of its fypes. qpf;tii*u'u’wbﬂq,fbﬂ ﬂ;’v’lﬂ i}
(i)  Define Cross Polination. IS i
(iv)  What is Hypogeal Germination? L )
(v) What is STDs stand for? ‘-’.q.‘...if"ﬁ'u" STDs (v}
(vi) Define Law of Segregation, LS AEAE S
(viij What is Central Dogma? el A (il
(viii) What is meant by Nawral Selection? ?Jﬂl-_:ygf»_._it@éxﬁ (wiliy

4. Attempt any five parts. 10=2x5 .,{;fa;m&zligc.éf 42
() Whatis Acid Rain? el AWE ()
{(iY  What are the differant levels of Ecalogical Organization? Y A ity gy (i)
(i)  What s meant by Genetic Engineering? Cedrde LG (i)
(iv) Define Fermenter. LIS D )
(v}  Whatis Novel Protsin? tp S R st (v)
(vi)  Define Drug. EWAL LB )
{viiy Whatis meant by Hallucinations? ‘.'fd:!,.r'l;?_,-r‘“’..,-n,j ksl (vil)
(vii) Describe the dfference batween Antigens and Antibodies, UAOAL R ﬁ?.}‘-i {wiii)

SECTION-Il (330

NOTE: - Attempt any two questions.

.é,g;/fmyiﬂi.@ﬂlﬂm&f b

5.(A) Describe in detail the role of skin and lungs 5 _;_,_'f.;,'!t:flr_iﬁ;,r':'l'_,’“'f' I IVE Y ;a;.‘-':.u'.-v-!.“jl--.";,.f.;_-,'l.:lj ()5
as homeostasis organ in humans.
(B) What is Feedback Mechanism? 4 & bl oL S e bl bl (L)
Write ita types and explain with examples.

6.(A) Whatis Cartilage? Describe its different types. 5 P - [ ngf' palad 1€ (2.6
(8} Explain Spermatogenesis [n detail. 4 B C' e J‘.""'J.-'ru"""”ﬁ’};* i)
7.(4) Explain Nitrogen Cycle. 5 S sl f Pl (LT
(B) Desciibe four groups of food obtained by Fermentation. 4 .9 .-_-,:g._,fi,-:':;ri AR b
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PAPER CODE 2017 (A) i% .t
NUMBER: 3461 SSC PART-ll (10th CLASS)

BIOLOGY (NEW SCHEME) GROUP-  ( 2015:2017 o) lr - s/ (€ £) E4¢L
TIME ALLOWED: 15 Minutes OBJECTIVE ﬁ[_ﬁﬁ e 15 =
MAXIMUM MARKS: 12 12= AF

fe i | SIS IWE D rarse L s Vi f QR S EEs D 4 T B A AR Ly S
S Vb A Rem Sl 2i Bubbles BuribtenddLem§i /G Sk \ Lo nimlicntl 225
Note: You have four cholces for each objective type question as A, B, C and D. -L{f;J“J:faUlr{e{Jh’
The choice which you think is correct, fill that circle In front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 A A
(1) "World Tobacca Day" is celebrated every year on- e bl bt " Ui (1)

(A) S5 31st May (B) 4" 30th May (C) f&A 31stMarch (D) #&.\ 21st March

(2) Number of Nephron in each Kidney is:- —;—Jﬂ!'ﬁu@!ﬁu’f-'—ﬂu‘& (2)
{A) 41 5lLac (B) £V 10 Lac (C) 41 7Llac (D)} 41 12 Lac
{3) Insulin ang Glucagon are produced In;- S L-_,f e Ll ;:,-"-f_-f’I {3}

(A) Hypothalamus J{!"E} (B) Pituitary Glands #44%% (C)Liver .4 (D) Pancreas 7./

{4) Part of Nervous System which is involuntary in its function is:- -ﬁ-bﬂdﬁg[ﬁ?ﬁf}%—’fﬂ{(‘y s (4)
(A) Somatic Nervous System ¢ s/ (B) Autonomic Nervous System ¢ ailidT
(C) sensory Nervous System A8~ (D} Motar Nervous Systemn r""' LNty

15) When Uric Acid accumulzates in the Joints, then the disease ...j;éﬁ;}’lhj;hﬁéﬂlfﬁtf}ﬂlﬁ&rfuiw}ﬁ?z (5)

adhere wil be-  (A) Gout =4% (B) Rheumatoid Arthritis 1A Tizel g

(C) Osteoporosis ;_,"i;;‘r}ﬁl (D) Osteo Arthritis 14 T4

(6) Part of Embryo in the seed gives rise to plant shoot - -.ILS"._*..FL..#JL ol (LT (8)
(A) Cotyledon /¥  (B) Plumule Jed (C) Racicle 4. (D) Testa b

(7) Double Fertilization results into:- ,.;,iaufiji&aﬁ-':’ﬂﬁds ()
(A) Ovuie g (B) Egg 14
(C) Trploid Endosperm Nucleus Uﬂ*ég;;;glgy (D) Diploid Endosperm Nucleus u"’;fr'z;’ Vi 47 1L

(8) Chromatin Material is made up of:- _e bl t AL (8)
(A) DNA 1S (B} Protein ;;,!f;.; (C) RNA LT (D) DNA and Protein u,ff:.;.ur.;.m{'d}

(8) Theory of Natural Selection was presented by:- Vb Annda @
(A) Aristotle L& (B) Lamark Lalw (C) Camwin i/l (D] Malthas i-u"ri.

(10) Biosphere surrounding the Earth is about- e Gl PRI (10)
(A) 17 km (B) 18km (C} 13 km (D} 20 km

(11) ___is an Anti-Viral Protsin. et (1)
(A} Urokinase ;-ﬂ?;{ (B) Interferons *ﬁg_é,’_ﬁl (C) Thymosin i (D) Insulin uﬂlrjf

(12) Sir Alexander Fleming was awarded the Noble Prize in:- -iif:lfukff g7 -':""f (12}
(A} U= 1945 (B) L& 1940 {C) & 1850 (D) £ 1935

26(0bji( 1ﬁf}rZ{'}'l?'I.fllf-"-.]|~'3?"I:lIEIE] {MULTAN)
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PAPER CODE 2017 (A) A

NUMBER: 3462 SSC PART-ll (10th CLASS)

BIOLOGY (NEW SCHEME) GROUP-I  ( 2015-2017 &%) 15 - f,.f ( f:‘ £) &L
TIME ALLOWED: 15 Minutes OBJECTIVE Lﬁ/“..-? w15 = =
MAXIMUM MARKS; 12 12= AF

A ob MBIV E N e AL sl ey QW02 —BELE 2D 4 C B A fiallel vy )
V1 Bl A e fi S2f Bubbles Gl 2l eSSl Sk | LS imliatl 25
Note: You have four cholces for each objective type questionas A, B, C and D. ..;_{JEL,P}’;;aHIf{g;Jr
The chelce which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many gquestions as given in objective type question paper and leave others blank. Mo credit will be awarded
In case BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A

(1) The site for gaseous exchange in humans s:- _‘;EJJ_:L_;*LJJ.,EL-J i 1)
A} Alveol JIJ{:.':I (B} Bronchi Jﬁ:x {C) Trachea g':,’ (D) Pharyrx :,,r"}

(2} Resins, as waste material, is excreted from:- ~ Bl K iy {2)
(A) Conifers c.-},&’:f (B) Tomato < /U (C)Kikar ;_‘,?’ (D) Rubber =%

(3) __  carry Nerve Impulse away from Cell Body. ..;,,iri_t;x":'_.mg o SIULG";J*'I:J (3
(A) Dendrites L%z  (B) Axons 1K1 (C) Dendron wiikes (D) Nerve Fibre £l

(4} Decreases the concentration of Glucose in Blood:- - b;f*;&;_ﬁﬁ{,duf (4)
(A) Glucagon o/ %5 (B) Insulin oo (C) Testosterone s (D) Caleitonin JJJ'-'I’

(5) Bone Marrow is found in:- {A) Compact bone -_,l':ufiuhé’fr’ bkl sl (5)
(B) Spongy bone U= u,!::._;;;* {C) Osleocytes u’:u"ﬁrﬂ;"’"ﬂ {D} Chondrocytes ._..'Turl"’l..fu.l-b’

{6} Root develops from:- «Fx  ®
(&) Testa = b (B) Plumule r_d,h:'ﬂ; (C) Micropyle .;d;.J'f':;,-':?L (D) Radicle = %4+

{7) Asexual repreduction in Rhizopus takes place by:- _‘L.Llﬂﬁrg'dd;’gl_'ufu'irijb {7)

(&) Binary fission a;-w#.-:,f;k (B) Budding =f4 (C)Spores =i (D) Endospores = il

i8) The location of gene on chromosome is called:- _"I'_E'LLrFGHf;ﬂr{rrf}; (8)
(A) Locus Jﬁ (B} Alla! ,-HI (C) Trail 227 (0} Centromera =&

(3) 1is nota Continuous Variation:- -.:.u:"ﬁjy (9)
{A) Blocd Groups a#:f..ié {B) Height pr (C) Weight ¢l {D) Intelligence =i}

(10} R3 means:- - ¥ R3 (10

(A) Less use /U7 (B) Reuse t/Ue™Lls,  (C) Recycle t5TEAn (D) Refuse t.81

(11) ____is used to break blood clots. e bl L WALy (1)
(A) Urokinase ¥y  (B)Interferon 24 (C) Thymosin ¥ (D) Beta-endarphin w’i}j{:”.i_g

(12) Drug obtained from Plants is called.- -‘c,;,-iil;f fadlsd_se P by (12)

(A) Aspirin f o~ (B) Opium ws! ({C) Cephalosponn ol (D) Insulin u‘-JrTI

28[0b)){ 'ﬁ']—im 7(A)-25000 (MULTAN)
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BIOLOGY (OLD SCHEME) GROUP- (20122014 ¢%)
TIME ALLOWED: 2.45 Hours

2017 (A)

o~

SSC PART-I (10th CLASS)

SUBJECTIVE Z&|»

e
STEPN

by - sd (A ) B¢

& 045

MAXIMUM MARKS: 683

83 =

—

AF

NOTE: - Write same question number _+.&JJJ;~{.JIF,@§£ a;:ﬁz;;ﬁd:m;.;dsﬁw <

and its part number on answer book, as given in the guestion paper.

2. Attempt any six parts,

(7)

(if)
(i)
(iv)

(vi) Differentiate between Population and Community.
{viil) Define Ecosystem.
{ix) Describe the difference between Food Chain and Food Web.
3. Attempt any five parts. 10=2x5
(i)  What is meant by Osmoregulation?
(i) Whatis Glomerulus Filtrate?
(i) What co you know about Kidney Stone?
(iv) What is meant by Self Pollination?
(v) Whatis the difference between External and
Internal Fertilization?
(vi) Define Alcoholic Fermentation.
(vil) What is maant by Recombinant DNA?
(viii) What is Genetic Engineering?
When did work start on it?
4. Attempt any five parts. 10=2x5

(i)

(ii)
(iii)
(iv)

(V)

(vi)
(vii)

SECTION-l il

Write down the symptoms of Pneumonia.

What are Stomata? Write their function.

What is the role of Pleural Membranes in Lungs?
Differentiate between Movement and Locomotion.
Write down two functions of Skeletal System.
What is Carlilage?

Explain Effectors.

What is meant by Blind Spot?

What is meant by DNA Replication?

Describe the difference between Dominant and
Recessive Allele.

Differentiate between Monohybrid Cross and
Dihybrid Cross.

Describe the difference between Antigen and Antibodies.

What are Sedatives?

(viil) What are Antibiotics?
( é—’ J.d :'

12=2x6

Eferling e 8 20y
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SECTION-Il (e

NOTE: - Attempt any three questions. _gggfaymﬂ.mﬂl"tﬁf&&jf -
5.(A) Write down the bad effects of Smoking. 4 G e be sl B (N5
(B) Write & note on Haemodialysis. 3 ..:_,r'."i % Pt ()

6.(A) Whatare the parts of Hindbrain? 4 Srl A0 A un Sl n e plgdtep ., ()6
And how do they work?

(B) Describe all the three types of Cartilage. 3 _éugrmufd' éﬁ’ ()
7.(A) Write down conditions for Seed Germination 4 -;_:ﬂm’ pﬁj:;ﬂé&y?j;f & (-7
(B) Write a note on Cutting. 3 _¢ﬂ¢§{ ( ;_Liﬁ'(h ) B (L)

8.(A) Write a note on Continuous and Discontinuous Variations. 4 _¢{'.§,;.:-.«I,£‘UJ':'€;;UJ" (3.8

(B) Write a note on Global Warming. 3 -qfﬂn.ir;_;..ﬂ.rl:g}j ()
9.(A) What is the rcle of Biotechnology 4 e A SUNGIEA Sl 2o S0P (-9
in the field of Food and Agriculture?
(B) What are Vaccines? 3 *L{JE-JL‘::._J )b’i.)?‘iif_" ol L y‘}r—r,. ()

Describe the mode of action of Vaccines.

SECTION-lIl  (ye
10. NOTE: - Attempt any two parts. 5+5 -g’,{;ﬂ:ftlﬁﬁleunéf (ﬁﬂ;) -10

3 e Qe T f I L T ) (A
{A) (i) "Carbondioxide gas is present in Exhaled air” write method.
(i) Draw a labelled diagram of Kidney. 2 'Y /ﬂ; W L(&'..-.Lf'.p (i)
(B) (i) Write procedure to observe the Bulb of an Onion. 3 _.,_,:’f;;_i)fs".-.’_.ﬂ.:‘-&ﬁf__.iijg (iy (B)

3 g S OPL S Ced) S ()
(if) Draw the structure of a Bone and label its parts.

3 iy Ay (L) B (Stem) Fad®™y () (©)
(C) (i) Write the procedure for propagation by stem cutting (Rose).
(i) What is the Scientific name of Man? 2 e H?tu:*’LIE’uLJI (i)

26-2017(A)- (MULTAN)
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2017 (A) o
SSC PARTI (10th CLASS)
BIOLOGY (OLD SCHEME) GROUP-II  ( 20122014 o) s - oo/ (€ ) Gl

i

j -
TIME ALLOWED: 2.45 Hours SUBJECTIVE i@ Hoas = =
MAXIMUM MARKS: 83 83 = A f

NOTE: - Write same question number -q.bnuﬂq_{.élr.fﬂg;{ b;}/:%ﬂﬁ'u?}dlf{ﬁ:{éﬂ}lﬁ ~Ly

and its part number on answer book, as given in the question paper.

SECTION-l Ji_o

2. Attempt any six parts. 12=2x6 g il e 8 20y
()  Write down the structure and function of Alveolus. J’J,_, il g lU'F-r)-J (i)
() Write down the symptoms of Asthma. el G
(i) What is the difference between Breathing and Respiration? F‘r_.,;fu.,. T -r*ix Al j" (iii)
(iv) What is meant by Gout? Sl Y (iv)
(v) What is the difference between Osteoarthritis and ‘,2..41;‘.' }"; T VTIRNY, I,ﬁﬂ!v*'rf (V)
Rheumatoid Arthritis?
(vi) Write two functions of Bones. -q’.‘jdlﬁu:a.‘iuﬁ i)
(vil) Write the difference between Ecosystem and Biosphere. -mﬁ{j}u’:ﬁiﬂ il r“"fr'fl (wii)
(vili) What are Biogeochemical Cycles? ?ﬁiﬁgﬁvﬂ@ﬂ (wiii)
{x) What is the difference between Nitrification and . J)l,;";.ff Coiasd o 8l sd ! s e S8 (IX)
Denitrification?
3. Attempt any five parts, 10=2x5 E Lt -3 0
(i)  Write down the functions of Human Skin. &E‘UHF.:_,&”JLH (i)
(i) Whatis meant by Kidney Transplant? i.‘..-_;u.,';r_._*; lJ;“IFuJJ (i)
(i) What is meant by Selective Reabsorption? Sl e Foreds i
(iv) What is meant by Tissue Culture and Cloning? e splfe BE A2 ()
(vi Whatis the difference between Asexual and S JA A o fﬁ;{,;—..-,,,-"';—g’ b (v)
Sexual Reproduction?
(vi) Whatis Thymosin? What s its use? P I S 2 (vi)
(vii) Write any two uses of Biotechnclogy in _.;fj.pm';’m;é:riﬁ-:'b;f;uﬂcﬁﬁ Gahr (Vi)
the field of Medicine.
(wiii) What is Continuous Fermentation? ?95::{0’“‘-'9),_;""') (viil)
4, Attempt any five parts. 10=2x5 el S ad)y
() Write two types of Coordination. S AL
(i) What are the effects of Somatotrophin on the growth of body? et xl..wa:-*._,[:r' b,,!lzr**r (ii)
(i) Define Genetics. S u"@; (i)
(iv) What is meant by Transcription? ‘f.L:L,r*L-":_ R (iy)
(v) Write two major sources of Variations. < fjtur_..f vl ol (v)
(vi) What are Syntnetic Drugs? Give one example. LJBLE S (i)
(vii) What is the use of Tetracyclines? T l_.il.a'%':"fﬁ’ykgh' 7 (vii)
(viil) Write two effects of Marijuana, ..:_’J.:,rféluﬁ.;lﬁci = (viii)

f.—"‘ll JH.'J
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SECTION-II (e

NOTE: - Attempt any three questions. -.;{;f.-.-..ym.f_’:,mmﬁ;,df -
5.(A) Whatis Gaseous Exchange in Plants? Explain 4 -/ /=l ?::_.Ilfla-r’s:.J}_bd:u!’fd:qu ()5
(B) How Kidney stone is formed? 3 T e T..f_C‘.";"':d /Eguﬂ*’_:); (o)

What is its treatment?

5.(A) Describe Thyroid Gland. What is its function. 4 T;.I_,_I"J"?J' -p:a‘rl.'Jlg.-:'-'.ff'.n'L:iL; (.8

(B) Whatis Joint? Descrive its types. 3 -L,:fug:ru'FL,le ez (o)
- N
7.(A) What is Vegetative Propagation? 4 _Jf“’_-,f;;.;:, ALL S S S, 4875 ()7
Write note on its one type.

(B) WWrite parts of Flower and also their funcitons., 3 -u-:”%b’mrr&u#’iJﬁ ()

8.(A) Write note on Watson-Crick Model of DNA, 4 e A Sl DNA ()-8
(B) How Acid Rain is formed? 3 e FL o e FLIndE ()

Write its three bad effects.

9.(A) Explain Alcoholic Fermentation and 4 gt SR E SR (e
Lactic Acid Fermentation.

(B) Explain Drug Addiction and its asscciated problems. 3 _yf st fiastniabfa® (L)

SECTION-IIl  pyve
10. NOTE: - Attempt any two parts. 5+5 —éfﬁ’:rl,fﬁﬁlzlu:.(jf (.A’L}ff&) -10

3 I S S S A
(A) (i) Write the procedure to examine the structure of the Sheep Kidney.
2 ST S FS eI S 2 i

(i) Draw a labelled diagram of dissected Sheep Kidney.

3 2T LS Eh 2 (Yeast) eoxe Kiaf () (B)
(B) (i) Write the procedure to observe the Budding in Yeast from prepared slide.
(i) Draw a diagram of Budding in Yeast. 2 _L,L'Jizrudilid'_:”@u:.pg (ii)
3 M LALLL kBl LT (©

(C) i) You have performed an experiment to study Gram Seed. Write its procedure,

(i) Define Carnivores Give two examples. 2 -L{:ﬁlﬁw ‘.-l_,f..-f._-l-;',;uf jm&;&“ i}
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PAPER CODE 2017 (A) | = il

W:Mm SSC PART-ll (10th CLASS)

BIOLOGY (OLD SCHEME) GROUP- (20122014 o) iy - oo/ (€ 1) Bolé

TIME ALLOWED: 15 Minutes OBJECTIVE g'ﬁf‘.-p 15 = =5
MAXIMUM MARKS: 12 12= AF

A o LJ:LJG}TA:L?&W‘C-*EW#;.JUJ}M{-J&P.’iJirﬁ{térdlﬁ “LLE D W C B AN Ly S
VI Ko A Eer Sl Sod Bubbles Pt edi RSl ST Sok | LS i Ll s
Note: You have four choices for each objective type question as A, B, C and D. -QJEJ"JZ;;.—HL#{.;{J:‘
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that quastion. Attempt as
many questions as given in objective type question paper and leave others blank. Mo credit will be awarded

in case BUBBLES are not filled. Do not solve guestion on this shest of OBJECTIVE PAPER.

Q.No.1 A Ay
{1) The bigges: bone of aur body is found in:- -ﬁ:_él,-dl;d;jzr_,.,»-iﬂ;_m (1]
{A) Thigh _2wh (B) Hand 2} (C) Leg f £t (D) Waist &/
(2) The scientist presented Law of Segregation. ,;,_JL?_’%E,I'*;/PJ Rl L {2)
(A) Mendel () (B) Newlon 5 (C) Lamarck L (D) De Vares 3.3
(3) ____ arepartin the First Trophic Level. Y IR P N (3
(A) Omnivores sugs  (B) Producers by  (C)Herbivores Luss (D) Consumers i
(4) ____ described 130 diseases of Eye ~|.I5::«'bi..’l--"-z 130 567 (4)
{A) Ali lbn-e-Sena bzeil  (B) Newton o% (C) Jabir Bin Hayyan giecizle (D) Ali Bin Musa (§ryn u"'
{5) Insulin and Gluzagon are produced in the:- SR L;,'b""i':gf-;luer;l (5)
{A) Hypothalamus el saile  (B) Anterior Pituitary ;_i'j,r'ﬂ,?:/;"'l 1C) Liver ﬁ (D) Pancreas J'_-:/E:j
(6) Air sacks break-down in the lungs of - el ﬁu’*ik'-;.!:u:;{fﬁﬂ sl ®
(A) Preumoria ¢ (B) Bronchitis L€ (C) Asthma ..: (D) Emphysema Lo ™
{7) Balance of water, minerals, temperature and glucose in a body g rr&-'}ﬁu.’l?uf !'f.:‘gj_l‘l;{;l!i-;dl.:._v: .;LL? s;:i; (7
is called:- (A} Excretion uﬁ-.ﬁ“ l {B) Tubular Secretion g
(C) Homeostasis L=+ (D) Reabsorption w7 wfs
{B) From any part of the alant ta give rise a new plant is called:- -.:‘:;11;-" :th;gi_;f:g?;£u’r f_.-_;.; (3)
(A} Budeing £ 4 (B) Regeneration ;;,E':-ZJJ (C) Fragmentation ue"*-# {c: (D} Vegetative propagation J:gﬁ.*ﬁ."f
(3) Rhizopus reproduces asexually by:- {A) Binary fissicn = Q'#Ilj_.-'-'l - .."J;:' ?:;.;J;—ELI ;,’:.I:JJ'D (3
(B) Budding .—__J?J-_- (C) Spore formation A s (D} Endospore formation Al b et
(10) Pursoselyy Bresding among organisms to get ce vl s bs it e S8 A e AR {10
combinations of specific traits is called:- (A) Natural selection il;;l:'i;j
(B) Artificial selection it;Jf‘“ {C) Regeneration .;,E"';v-i;_,‘.a (D} Seqgregation ,ﬁ{&:
(11) ____is not an objective of Genetic Engineering. _,f_u’:-iﬁ‘r-"..f}-':'ff..@.? 1M
(A) Production cheese and yegurt by Lactic Acid Bacteria EE:;F:;:-',-;@;,_,:‘-E‘:HI..EIJ
(B Isolation of a pariicular gene or part of gene thstolf ibi-.,:‘-’u‘:cff-_;"ﬂ}'
(C) Production of RNA and Pretein molecules AL fag sl RNA

(D) Correction of geretic defects in higher arganisms LA BTl Uniebl 2 (¥
{12) The substances used for the ireatment, cure I S WL PO o [ N ;_.'?F’i'!@- A2 e P (12}

prevention or diagnosis of diseases are called:-

(&) Medicinal Drugs .:Jg::llﬁ' (B) Narcotics ol (C} Hallucinogens =45 (D) Sedatives it 4-
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PAPER CODE 2017 (A) s o s
NUMBER: 7464 SSC PART-Il (10th CLASS)

BIOLOGY (OLD SCHEME) GROUP-I  (2012-2014 &*) Lo - o/ (o€ ) G4y
TIME ALLOWED: 15 Minutes OBJECTIVE U"?/",.a? s 15 = o
MAXIMUM MARKS: 12 2= AF

fe oL AL Ayl Y Ikﬁf.ul:"._ﬁ:c_,;_.i._;ur:.“_'a_.m‘_w_JLr;xdb’dE? u‘i{.: D.CBnA ...,yf,l? L;C._,'rr;.- iy
. -rrd.-ﬂLJIJfr"rj.fl_;-—-Jf"JL-. -4 Bubbles -E’:r.:.v"'w_al_ﬂuﬂ,_,ia.srﬂ}hxc; ;-...-H'l..;'_):;fuumlr.-r_n_f &2y
Note: You have four choices for each objective type guestion as A, B, C and D. -L_r..—..,, -f:-e._,urn,.;{,,glr
The choice which you think is correct, fill that circle in front of that question number, Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that fquestion. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of CBJECTIVE PAPER.

Q.No.1 21 A

(1) Important parts of Angiosperm seeds are:- ABEALEL s giais! (1)
(A) Two 1 (B) Three & (C) Four 4 (D) Five &1

{2} Part of DNA containing instructions for 2 Fid -._,m_if_-‘.;fl_,Iquf.d,-!.}‘Juﬁr,;;jfﬂ'{;:ﬁ.mja’ PR RTINS (2)

preparation of specific protein Is called:-
(A) Karyotype Aty (B) Gene o (C) Cnromosame (+++. (D) Bhenotype /b5
(3) Copying of DNA nucleotids bW P reses MANA « L/l T Aafinrefel DNA (3)
gequence in tha nucleotide seguence of MRNA is called:-

(A) Transcription % 47  (B) Translation w17  (C) Transformation o2 Wi} (D) Transduction o~ i

{4) Role of Bacteria and Fungi in Ecosystem is of - - I h‘nlL J,-—‘f oy v 1 (4]
(A) Producers Jeghe  (B) Decomposers ;.-_JJ;*:_:' ' (C) Harbivores L-n._} s () Camivores ;m.,!n &

1&) ___ gas produced during fermentation causa the bread swell - --ll:--_,l,-e‘,g:lﬂ; u‘f 'lj.-*_l_, ;._._.,_,wf i5)
(A) Carbon dioxide £ TM5e8 (B Oxygen ‘;:’-“:f-f (C} Nitrogen %4t (D) Ammonia s

{(6) _____drug is obtained from plant source. - .-_-EI.-.;J,J" b Lnigles 1]
(A) Opium sl (B) Aspirin ¢ ¢ (C) Insulin o (D) Cephalosporin s~

(7} __ pasis censumed in Aerobic Respiration e &,:-_,}Wl-_rﬁr.:;:,f—',;m_{fz: [ {7}
(A) Oxygen 7T (B) Carbon dioxide #\T}5.u8  (C) Nitrogen ¢fs#t (D) Ghlorine o ¥

(8) Despite of fluctuations in temperature, the temperature of =W J*_?.Ja’ﬁ;}LilmJgiV-;;I:;,?V':..z,,lﬂfu.- (8)

human body remains at-  (A) 37°C (B) 40°C (C)25°¢C (D) 35°C
{8) Processas thal carmy Nerve Impu'ses away from o i b e SIS e E L shet {9)

the cell body, are callea- (A) Dendrites ™.z} (B) Axors #1021 (C) Myelin Sheath #2555 (D] Synapses ;.. Al

(10) __ s respansibie for Nervous Coordination. - rr:;u.,-ilf’ff-ji.r'f.,,"r; (10)
(A) Endocring System @ orlf el (B) Nervous System ¢ _ns
(C) Hormenal System ¢kl (D) Ductless Glands s il Jto

{11) Some bones produce;- _U:L}t&u":é.ng: {11}
(A) Mucous 7% (B} Hormanes % (C) Oxygen o™ T (D) Blood Cells ik

{12} After fertization in plants, the fruit develops from:- -.;I:_:&Q"fgﬁu,-i-l;fef}u:w:{ (%2}

(A) Wall of Ovule ::.;l,f.'!ujjjrj' (B) Wall of Ovary c_z'g'.'-.,.:fgi.'l.': (C) Petals = #% (D) Anther — /3*.,
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